Homework







Homework #1: Analyzing Students’ Alternative Conceptions

Part A. Analyzing Force Concept Inventory Questions:

The top of each attached page shows a question from the Force Concept Inventory. The
"Pre" and "Post" columns show the percentage of students in the calculus-based course
that selected each of the possible answers on the pretest (given at the beginning of the
term) and the posttest (at the end of ten weeks of instruction).

For each question:

a. Describe briefly how a student might be thinking who selected each incorrect
answer. (Hint: Review the alternative conceptions from the McDermott and
Wandersee et. al., articles.)

b. Which of the possible "alternative conceptions" were successfully addressed by
instruction? Which were not?
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TA Orientation 2005 Homework #1 (continued)

il Question 30
Despite a very strong wind, a tennis player manages to hit
a texmis ball with her xacquet so that the ball passes over
the net and lands on hexr opponent’s court.
Consiler the fdlowing forces:
1. A downward force ufgmwit_',lf.
2. A force by the "hit". ;
3. A force exerted by the air.
mhmﬂmmmme{s}is{m%:}rﬁngunﬂetmmjstnﬂ
after it has left contact with the racquet and before it tonches

the ground? : Pre Post
(4) 1 anly r 2 10
(B)land 2 : 4 7
(C)land 3 © 18 46
(D)2 and : 3 11
(E)l, 2, and 3 .75 36

a. Describe briefly how a student might be thinking who gives each incorrect answer.

b. Which of these “alternative conceptions” were successfully addressed by instruction?
Which were not?
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TA Orientation 2005 Homework #1 (continued)

2.
L)
Question 19
N .
RIS

Do the blocks ever have

the same speed? Pre Post
(A) Mol i 8
(B) Yes, at instant 2.

() Yes, at instant 5. 0

(I Yes at instant 2 and 5. 20 20
(E) Yes at some time 51 5

during interval 3 to 4.

a. Describe briefly how a student might be thinking who gives each incorrect answer.

b. Which of these “alternative conceptions” were successfully addressed by instruction?
Which were not?
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TA Orientation 2005 Homework #1 (continued)

L] Question 4

A large truck collides head-on with a small compact car.
During the collision,

Pre Post
(A) the truck exerts a greater amount 79 46
of force on the car than the car
exerts on the truck
{B) the car exerts a greater amount r] 1
of force on the truck than the
iruck exerts on the car.
(C)h neither exerts a force on the other, 1] ]

the car gets smashed simply because
it gets in the way of the truck.

I3y the truck exerts a force on the car, i 1]
but the car doesn't exert a force
on the truck.

(E) the truck exerts the same amount 19
of force on the car as the car exerts
on the truck. P

]
L]

a. Describe briefly how a student might be thinking who gives each incorrect answer.

b. Which of these “alternative conceptions” were successfully addressed by instruction?
Which were not?
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TA Orientation 2005 Homework #1 (continued)

Part B. Analyzing Open-Ended Questions:
The attached sheets contain student responses to two open-ended questions given to
students in the calculus-based course as a posttest (after ten weeks of instruction).

1. First read through the responses of Students #1, #2 and #3. These students wrote
fairly good and complete answers to the questions.

2. Now read through the remainder of the student answers.
* What is one thing that surprised you about these responses? Why?
* What is one thing that did not surprise you? Why?

3. Read through the responses again, and answer the first three questions on the next
page.

4. Imagine you were tutoring the student assigned to your group. What example
situation, reference to a common experience students are likely to have, or set of
questions do you think might help move the student away from their alternative
conception(s)? Discuss.
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TA Orientation Homework #1 (continued)

Answer Sheet

1. What conceptual difficulties do Students #4, #5 and #6 have with the concept of
acceleration? (Hint: You may want to look at the McDermott article, page 27).

2. Which students' responses to the passenger/car questions indicate a forward force
on the passenger or car which is a "pseudo-force" or non-Newtonian force (i.e., not
caused by the interaction of the passenger or car with real objects). What might
these students be thinking to indicate these non-Newtonian forces? What is your
evidence?

3. Which students' responses to the passenger/car questions indicate a backward force
on the passenger or car which is a "pseudo-force" or non-Newtonian force (i.e., not
caused by the interaction of the passenger or car with real objects). What might
these students be thinking to indicate these non-Newtonian forces? What is your
evidence?

4. What example situation, reference to a common experience students are likely to have, or set
of questions do you think might help move Student # away from their alternative
conception(s)?
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TA Orientation Homework #1 (continued)

The following questions are far course evaluation purposes only and will not be graded. They will
he.lpu:wduﬁghowwHWmnyom-hmmgnepad::hiswuL.

Motion Up the Ramp
1 —

,_ e Y —

Motion Down the Ramp * o
3 G 2

e T1

1. A steel ball is launched with some inital velocity, slows down as it travels up a gentle incline,
:ﬁu;hdmmn. and then speeds up as it retums to its starting point. Asgsume friction is
&f

@@ S8 we calculated the acceleration of the ball as it's moving up the ramp (from 1 to 2),
mmdaaﬁonuiflmovingdawnthenmp(ﬁom2w3). How would these two

accelerations compare? (i.e., Are the accelerations the same size? The same direction?)
Explain your '

TAe wccsbmePloA oF the bal) cs r’-/lmm.-l a/ﬁ‘e ra g Vo P4

be an acceleralian oK A S A T A3 as F e A

donwa He mmp _ The, would alse be of He soHle crae, becuySe
He 5bPe of He rtamp ts conshant Hrughont vig evens

your ‘
)"‘-’5. o TFs AZ"’-’"{ po Nt e acceltraten TS SAT/) M same s
betore. , Hha veiog_nﬁ, howerer rs O. :

.5'\'0 dent # 1

(b) Does the ball have an acceleration at it's highest point on the incline (at position 2)? Explain
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TA Orientation Homework #1 (continued)

3. You are a passenger in a car which is traveling on a straight road while it is increasing speed
from 30 mph to 55 mph. You wonder what forces causc you and the car to accelerate. When
you pull over to eat, you decide to figure it out.

(@) On the left side of the table below, draw and label arrows representing all the forces acting on
you (passenger) while the car is accelerating. The length of the arrows should indicate the
relative sizes of the forces (Le., a larger force should be represented by a clearly longer arrow,
equal forces by arrows of equal length). On the right side of the table, describe each force in
words (i.e., What kind of force is it? Is the force a push or a pull? What object, if any, is
exerting the force? What object is being affected by the farce?).

You (Passenger) Description of Each Force

PusHiING Yo RS —HE
QAR NICELERRTES . PusH

W T gRAVITHTIONE FUTLE
Fagit o EARTH on YOU. PIL
o N = NORYAL FoRLE 0F SEAT
d oY Youw

() Which force(s) causc you (passenger) to sccelerate? Explain your reasoning.

—

Viopar QAVES You T@ AMELERITE RBeCRIss 1T 1S

'
NaT COVMTERARTER ey ANY CTHEY FOULES -

Stvdent #2
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TA Orientation Homework #1 (continued)

c) On the left side of the table below, draw and label arrows representing all the forces acting on

© the car while it is accelerating. The length of the arrows should indicate the relative sizes of
the forces (i.c., a larger force should be represented by a clearly longer arrow, equal forces by
arrows of equal length). On the right side of the table, describe each force in words (i.e.,
What kind of force is it? Is the force a push or a pull? What object, if any, is exerting the
force? What object is being affected by the farce?).

Car Description of Each Force
W e ~tha ﬁwaﬁHch Pu.l‘. of
e ear on ihe car

Acive ot N = Yk sugpert Hree of He
cood e T car, distribuied
4.»:«\\3 on N\ Hw Hres.
A= ﬁa.de‘%-prca of Yhe air
on the cor as It Wowes

frwerd:
= Ak Friehondl force of

.m ‘-au..d o~ ‘H&( "{“"s
IR forward woton,

(d) Which force(s) cause the car o accelerate? Explain your reasoning.
e Hichonal . force of the c2ad oa Hu tires calses 'HNL.
car e accelerate. The hes are movi O in that dineeh on

and 1§ thare whare ne ‘p'ftﬁ.:m,‘%{‘-d wd Just _;Pi'n.su\ncd. Yhare

s friehen Vehucen Ha vwad ang hres i+ acts in =» this .
& move forword This [ stabc Hriekon.

Stodent #HS

dire etion causing Hha e
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TA Orientation Homework #1 (continued)

The following questions are for course evaluation purposes only aad will not be graded. They will o
help us evaluate how weil we met your leamning needs this course.

Motion Up the Ramp 2
I BT S i e —— S S—— — — — —

Motion Down the Ramp
3 | — —

1. A steel ball is launched with some initial velocity, slows down as it travels up a gentle incline,
reverses direction, and then speeds up as it returns to its starting point. Assume friction is

negligible.
(a) E:Epouwecalculaudtheaccelmﬁonoftheballuil‘tmovingupthenmp (from 1w 2),
the

acccleration as it's moving down the ramp (from 2 to 3). How would these two
accelerations compare? (i.e., Are the accelerations the same size? The same direction?)

Explain your reasoning. o
The accelecation of +he ball Fam &0 2 wov

Do \GCS.Q.I‘ thon Hhe accddeahon ofF The ball
K am | <p 2Mtcause i+ Auldes mMore wer ¢ o
M ball 4o go Up He (amp Wn":jo dow n P~

ramp - The accé.(e,(q-}-;ons would beinthe same

dive cHan .

(b) Does the ball have an acceleration at it's highest point on the incline (at position 2)? Explain
your reasoning.

f\)o:r{' does not ,1'} must S.'f‘og/'a.-f‘ least+ ér‘
& setond , so i+ can reue< its direction .

Otudent #4.
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TA Orientation Homework #1 (continued)

The following questions are for course evaluation purposes only and will not be graded. They will
help us evaluate how well we met your lcaming needs this course.

Motion Up the Ramp 2
1 — P —
'_——1-—_-— _________ _D-
Motion Down the Ramp  ,
3 44— i J—
'——-—_—-I=- —————————— —D—

1. A steel ball is launched with some initial velocity, slows down as it travels up a gentle incline,
reverses direction, and then speeds up as it retumns to its starting point. Assume friction is
‘ negligible.
(a) i:gpoaewecalcuhuamcaocelmﬁonofanbauuir.moﬁngupmmmp(ﬁmlm-_I_‘_z),
the acceleration as it's moving down the ramp (from 2 to 3). How would these two
;—cxcelhi?ﬁons compare? (i.e., Are the accelerations the same size? The same direction?)
P your reasoning. \ : r . *
- m QCLQIQQA‘H‘M} G.ro (N oﬂﬂOSr%d;f@(ﬁwI Oj}(,?/ W
- ;:«'I.«lﬁ
§ pone by goy foun A rasy and g’y Jped,

(Nf’ ng, p-ﬂle{ X9 /189 hve 6/ -?W‘!t}'/ v fhe oy od %gﬂ
;/Dw'yﬁlolﬁh

(b) Does the ball have an acceleration atif's highest point on the incline (at position 2)? Explain
your reasoning. . - -
LM e point thy bay Furs &roud 7%@/&
Ll Ve A0 Gueloatin Sue ar thi pon v=o.
The  acecferatrn i) Stact onu a94/n 4r The baty

Starh Mow‘y dawn e Mcline.

Student # 5
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TA Orientation Homework #1 (continued)

The following questions are for courss evaluation purposes only and will not be graded. They will
help us evaluate how well we met your learning needs this course.

Motion Up the Ramp 2
'—_—“ﬂ——-_—_- — — — .—-——-——D—

Motion Down the Ramp  »
G —

1. A steel ball is launched with some initial velocity, slows down as it travels up a gentle incline,
revgirses 1£imm' and then speeds up as it rerurns to its starting point. Assume friction is
negligib :

() Sugpose we calculated the acceleration of the ball as it's moving up the ramp (from 1 to 2),
and the acceleration as it's moving down the ramp (from 2 to 3). How would these two
accelerations compare? (i.e., Arc the accelerations the same gize? The same direction?)
Explain your reasoning.
To C-H"F;rt 'Hu. o acu’eo%‘--\s W< wau} cL Ct‘ml M«g
fﬂ?jn?‘(‘* des P b 2ppred ma e !7 Mo same, b oajie Phe accdesshs

directiron yoh  mest geasider phich 3y W molten 13 in rlshin
1(" e .,"-*“'L"”‘ : S\ ‘(}‘"\ 01 * f‘d’ Mﬁlﬂ- s 2 wv:J‘“ﬁ acue f““.ﬁa
'Nta-v-y He 2c¢ cf.{e !‘-‘»')lﬁa,1 (X f’!"u )Prm ,'-‘( ore (,-hé,, > J M,}h,,_

Form Fwr o %rﬁ:ccelemfwn s pusiie becanse hois Phe som:

direction . pretidn

(5) Does the ball have an acceleration at it's highest point on the incline (at position 2)? Explain
your reasoning.

The ,_,'mﬁ,.’,'}-m}.c r'f: HM- lﬂ}”:# Pomf 2 s gZro.
MH’L\ 'H"'!- ball 34' %’fs er'n'{') ﬂ\t J'HW'RM o[ Y’l"('“'" 15
CJ\?K) E»; 5% 9£¢£{tr3'+‘"" J&jn’f— 'ex\51L :;4’" ‘Mﬂ?‘}‘ ]n.S‘?l:ngane.w}J

. Student # 6
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TA Orientation Homework #1 (continued)

3. Y&umapusengcrinacarwhichismvelingonastnightroadwhﬂeitisinmuings
from 30 mph to 55 mph. You wonder what forces cause you and the car to accelerate. When
youpullovertocat,youdecidctoﬁgurcitout.

(a) Ontheleﬁsiﬂeof:heublebelow.dnwaqdlabelmwsmscndngan:hefm-oeucﬁngon
you (passenger) while the car is accelerating. The length of the arrows should indicate the
relativesimofthcfdmu(i.e.,alargcrfome:houldbewnwdbyaclculy aITow,
equal forces by arrows of equal length). On the right side of the table, describe cac force in
words (ie., What kind of force is 1t? Is the force a pushora pull? What object, if any, is
exerting the force? What object is being affected by the force?).

You (Passenger) . Description of Each Force
F“ Cmc ef grmﬂ-y bs’ t.aw-ﬂn(ﬂu”)

For forun frarm e lovmdion
2 0@ Cav (Pu.ll\ .

F,= Coce o€ inuier puling ek

fy F Fo v Woemel Pore Erom
Seat (Purch)

(®) Which force(s) cause you (passenger) o accelerate? Explain your reasoning. .&.

frree _
Srodert # T
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TA Orientation Homework #1 (continued)

. in a car which is raveling on a straight road while it is increasing
’ gg::% ;ppﬁ’giﬁﬁh. You wonder what forces cause you and the car to accelerate. When
you pull over to eat, you decide to figure it out.

left side of the wble below, draw and label arows representing all the forces acting on

® )?anu%umgcr) while the car is accelerating. The length of the arrows should indicate the

Telative sizes of the forces (i.e., a larger force should be represented by a clearly longer arrow,

equal forces by arrows of equal length). On the right side of the table, describe each force in

words (i.c., What kind of force is it? Is the force a push or a pull? What object, if any, is
exerting the force? What object is being affected by the force?).

You (Passenger) Description of Each Force

The push Hove e v
+re b cll Y
(e flﬂr’/jﬁf-? ég v¢ / %
fre porh Forel From
— uw! bttt while

’f B e e le rate,

The Pz force of

2rovit WE cg,amf/
-f?a w}:{/@rmﬁ/ Az
ol " fpe. seat belltn
ps'r;h}f; vp or Yo e

(b) Which force(s) cause you (passenger) to accelerate? Explain your reasoning.

The foree o+ $ov cor” !éA/L/w'/r(w;
you ﬂ,//w} wrty . T enr. |

Student # 8
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TA Orientation Homework #1 (continued)

3. Youmnpmengerinacarwhiqhisu:veﬁngma:ﬂaightmdwhﬂelminmﬁngm
from 30 mph 0 55 mph. You wonder what forces cause you and the car to accelerate.
you pull over t eat, you decide to figure it out.

(2) On the left side of the table below, draw and label arrows representing all the forces acting on
you (passenger) while the car is accelerating. The length of the arrows should indicate the
relative sizes of the forces (i.e., a larger force should be represented by a clearly longer arrow,

- equal forces by arrows of equal length). On the right side of the table, describe force in
words (iLe., What kind of force is it? Is the force a push or a pull? What object, if any, is
exerting the force? What object is being affected by the farce?).

You (Passenger) Description of Each Force

Tnerha « the e T4
autl&f‘a*f'\'r‘f FWW‘ZF‘J, bu¥
youy bo&\f wants 1o sfayl.

in T+ origingl Fiom
foee oFSeat ang )/5: jr': Pﬁgit(cj F‘r{fb

¢l oF s+ Fhe %ot q
S Gro.vi")'y - grmﬁy P!#Skcé ’
el ’ Vo Yo the seat ‘nc]

holdd you W the tar
Forte cf Seat ~ seat Puﬁfx‘i"\j
Yk on fok a5 you
+y do (€Tt motion

(b) Which foree(s) cause you (passenger) t accelerate? Explain your reasoning.

The Socce of He %t propels ypu Foturard

F T fcie o the auclrahing car i
Leanfereed 40 ARC Seaf wRLh 39 pret of

he (ol
el Strudent # J
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TA Orientation Homework #1 (continued)

3. Youarcnpassengu-inacnwhichismvelinganasmightmadwhﬂeitisinmsingspead
from 30 mph to 55 mph. You wonder what forces cause you and the car to accelerate. When
you pull over to eat, you decide to figure it out.

(3) On the left side of the table below, draw and label arrows representing all the forces acting on
you (passenger) while the car is accelerating. The length of the arrows should indicate the
relative sizes of the forces (i.e., a larger force should be represented by a clearly longer arrow,
equal forces by arrows of equal length). On the right side of the table, describe cach force in
words (i.e., What kind of force is 1t? Is the force a push or a pull? What object, if any, is
exerting the force? What object is being affected by the force?).

You (Passenger) _ Description of Each Force
}v‘:‘ Force ak @enr Mal 0'5;?.&1‘
A\ Fq-c ce of Haw €Y.

C . Fo ree of eéraqi*7

K
: 0~ ‘Q . Fo:c-. ot seak
i | aN — = Focew oo L xet
\)/ : o AL C_-.e_a..'t‘
-

®) Whichfum(sSeumm(p;mga)mamdmm? Explain your reasoming.
o, A, ey Beer vou ity
Geot

Student #10
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TA Orientation Homework #1 (continued)

3. You are 2 passen erinawwhichismvelinéonaswﬁghtmldwhﬂeitisinmdngm
from 30 mph to 55 mph. You wonder what forces cause you and the car to accelerate.

you pull ovez to eat, you decide to figure it out.

(a) On the left side of the table below, draw and label arrows representing all the forces acting on
you (passenger) while the car is accelerating. The length of the arrows should indicate the
relative sizes of the forces (i.e., a larger force should be represeated by a clearly longer arrow,
equal farces by arrows of equal length). On the right side of the table, describe force in
wards (i.e., What kind of force is it? Is the force & push or a pull? What object, if any, is
exerting the force? What object is being affected by the force?).

You (Passenger) Description of Each Force

3
L—”; @;rmi ere

f = '\c;.rq.{_ gl\ 3ru\+_:

e .
F;_ f c;: pﬁ = Frece o{; ft&‘*@‘-kf
K Ainedie)
J'c) R
‘F:OV'L.\_ g,,-i-ﬂ\e. .

(b) Which force(s) cause you (passenger) w accelerate? Explain your reasoning.

- ':.D'H'\.c,. A.M.sme"

\'—FP -{;,;,C, pI'H‘#-) &-ra.r\s.-.;ir}"('{di- \_).\9\ H“t car,

Jtudent # 11
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TA Orientation Homework #1 (continued)

c ide of the table below, draw and label arrows representing all the forces acting on

© ﬁggﬁmuwmg The length of the arrows should indicate the relazive sizes of
the forces (i.e., a larger force should be represented by a clearly longer arrow, equal forces by
arrows of equal length). On the right side of the table, describe each force in words (i.c.,
What kind of force is it? Is the force a push or a pull? What object, if any, is exerting the
force? What object is being affected by the force?).

Car Description of Each Force

Nenornnal foree”

N ‘E-_ﬁ \Cr‘fcﬁaﬂa.( force

betweetl 28 + Fire.
_EE W= Sra\l;‘l'a‘l'lana( f"’”
W 0f eact+hn oa Hhe

cal,

(d) Which force(s) cause the car to accelerate? Explain your reasoning.

The £erichonal Grce and Sf‘a'ui tational putl
Cause ‘+he Cal %'ac:@(a@%é. e 'p(}c-f'}mq]

Gocce bcﬁz)»zcn-H\.e_ Lires and e @ad
a\tm e car 4o Mmove @orwamﬁang

aca.el.che. St“de“t #12'
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TA Orientation Homework #1 (continued)

On the left side of the table below, draw and label arrows representing all the forces acting on
© thecar;hilcitismelmﬁng. The length of the arrows should indicate the relative sizes of
the forces (1.c., a larger force should be represented by 2 clearly longer arrow, equal forces by
arrows of equal 1 . On the right side of the table, describe each farce in words (e.,
What kind of force s it? Is the force a push or a pull? What object, if any, is exerting the

farce? What object is being affected by the force?).

Car Description of Each Force

w o
TV

Ffem—;‘- F'WWW"

(&) Which farce(s) cause the car w accelerate? Explain your reasoning.

i o of unben o o o oo ozl
Busousss of vHhe et § vrmobat ¢ kb umal
Gl e o b

Student # 13
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TA Orientation Homework #1 (continued)

i the table below, draw and label arrows representing all the forces acung on
© % ?aerl:.-ﬂhn‘;df; ?sflwekﬂting. The length of the arrows should indicate the relative sizes of
the forces (Le., a larger force should be represented by a clearly longer arrow, eguﬁmby
a:mw:o!equallengm).On:heﬁghtudeof:hctabls.d:mbe_migfmepw (;;.e.
What kind of force is it? Is the force a push or a pull? What object, if any, is exerting
force? What object is being affected by the force?).

Car Description Ofp Each Force
= vee OF vi #

i Cvf:'t :a FHA ?ﬁfﬁ” 4
F= Aov pre Gb#ﬂ;l CE@pH
roed ( Pushd .
71f= Fores of CrictHon
F, | o rosht Hres Pl

ﬁf = ﬁccelam“ng Qaru

Cror Cav'y wotov
{ Pul)

fr

t..‘{:

@ mws)mmmPM?mmnu%/d:
e o~ Tt M -

Student # 14
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TA Orientation

Homework #1 (continued)

(c) Ondulefmdzoftheuhlebelow.dmwandlabelmwsrepmmun all the forces acting on
the car while it is accelerating. Thchngmofmelmwsshouldmdlmmerdmvenmof

the forces (i.c., 2 larger force should be

arrows of equa.l len

represented by a clearly longer arrow, equal forces by
On the right side of the table, describe each force in words (i.c.,

What kind of force i3 it? Is the force a push or a pull? Whuohgect.ﬂany is exerting the
force? Whmobjecmbemga.ﬁ'acmdbythefmm?).

Car Description of Each Force
Con teenlo ha
F aﬂﬂ:foﬂ-ﬂﬂiﬂ;r\ . i
INAS e £ o |[Foom cban = F goesl a2
e g | Tl s et e
MWF(%\M.L].
T F g
Freed - T

()] thchfave(s)cauae:hemlnawelmn? Explain your

reasoning.
+ Fem oo Fooad 4 (ot fpas) oll lelp

Student #1D
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TA Orientation

(c) On the left side of the table below,
the car while it i3 accelerating. The
the forces (i.c., a larger force should be
arrows of equal length). On the right

What kind of force is it? Is the force a
force? What object is being affected by the force?).

Homework #1 (continued)

draw and label arrows representing all the forces acting on
length of the arrows should in

the relative sizes of

represented by a clearly longer arrow, equal farces by
side of the t!z:le, describe each force in words (i.e.,
push or a pull? What object, if any, is exerting the

Car

Description of Each Force

o ? Arvemal aPP‘“-‘% =
3 -
Fj 7_‘7.F°r¢ e o{’g'fé JB
— | '
F.F # ‘Forr.c -Pw uaofﬁ.&.
‘ﬁ'om g’ engire

F% :Dqﬁorte: aﬁ— fes'u-"'ﬁﬂte
(dir“ Ff:uko'\ )

(d) Which force(s) cause the car to accelerate? Explain your reasoning.

E\F -ﬁorce_- ‘{:\ofﬁﬂ"d N o bk\*‘v‘ Cka{cc’
ny
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TA Orientation 2005 Homework #3
Homework #3: Solving Problems Using Your Problem Solving Framework

Note: Before you do this homework, complete the reading assignments:
Competent Prablem Solver. Read/skim the brief descriptions and examples:

*  Pictures and motion diagrams: pages 1-4 ta 1-5; pages 1-8 t01-9; pages 2-4 and 2-12;
pages 2-6 and 2-14; and pages 3-6 to 3-13 (17 pages)

* Free-body and force diagrams: pages 4-1 through 421 (21 pages)
Instructors Handbook, Teaching a Dizcussion Session

= Owerview of Teaching a Discussion Seclion (2 pages)

= Qutling for Teaching Discussion Sessions (1 page)

= Detailed Advice for Teaching Discussion Sessions (4.5 pages)
= Spme Teaching Teols

Imagine that you have been asked by your professor to write solutions for the five
discussion session problems on the following pages. The solutions will be
photocopied and passed out to all the students in the course at the end of each
discussion session.

Solve each problem by following the problem-solving framework you designed in
TA Orientation last Friday. Write your solutions on the answer sheets that you
designed. Be sure to include motion diagrams and/ or both free-body and force
diagrams. Use the agent-object notation for the forces (in Readings, Hughes, 2002).

You can use only the fundamental concepts and equations for special conditions that
your students would know at the time you give them each problem to solve. You
would write these equations on the board (or they would be included with the
problem) before vour groups started solving the problem. Imagine also that you want
to model solving problems based on principles and concepts, instead of the memorized
plug-and-chug or pattern-matching “formulas.” So you decide to limit the kinematics
equations to three, independent equations.

You may find the following information useful in solving the problems.

Useful Mathematical Relationships:
: ; i b
For aright triangle: sinf = % . tos B ™Y tan 8 =§,
c a2 + b2 =c2, sin? B+ cos? B =1, sin 28 =2 sin Acos B

&
For a circle: C = 2nR, A = nR2
4
5 For a sphere:A = 4nR2, V =3 nR3
s B 8 = i e, e uﬁ-mc

Useful constants: 1 mile = 5280 ft, Tkm = 5/8 mile, g = 9.8 m/s? = 32 ft/s?
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1.

Runner Problem. Chris and Alex are practicing for their next competition race. Chris runs
at a constant speed of 3 meters/second down a long straight road. After 5 minutes, Alex
starts from the same place and runs at a faster constant speed of 4 meters/second. How far
from the starting point will the runners be when Alex catches up to Ken?

Remember to use only the equation shown below,
Ax xp—x
. _ B A
Fundamental Concept: Trm ™ g o

Traffic Accident Problem: You have a summer job with an insurance company and are
helping to investigate a tragic "accident.”" At the scene, you see a road running straight
down a hill that is at 107 to the horizontal. At the bottom of the hill, the road widens into a
small, level parking lot overlooking a cliff. The cliff has a vertical drop of 400 feet to the
horizontal ground below where a car is wrecked 30 feet from the base of the cliff. A
witness claims that the car was parked on the hill and began coasting down the road, taking
about 3 seconds to get down the hill. Your boss drops a stone from the edge of the cliff and,
from the sound of it hitting the ground below, determines that it takes 5.0 seconds to fall to
the bottom. You are told to calculate the car's average acceleration coming down the hill
based on the statement of the witness and the other facts in the case. Obviously, your boss
suspects foul play.

Remember to use only the equations shown below,

AX Xp=1X, AV, V= Vo
i W |, S —— a = =
Fundamental Concepts: Vi n A -t pa =T —

|
Under Certam Condifions:  Xp = Eﬂg{ﬂllz + v (A +x,

Ice Skating Problem: You are taking care of two small children, Sarah and Rachel, who are
twins. On a nice cold, clear day, you decide to take them ice skating on Lake of the Isles. To
travel across the frozen lake you have Sarah hold your hand and Rachel's hand. The three of
you form a straight line as you skate, and the two children just glide. Sarah must reach up at
an angle of 60 degrees to grasp your hand, but she grabs Rachel's hand horizontally. Since
the children are twins, they are the same height and the same weight, 50 Ibs. To get started
you accelerate at 2.0 m/s2. You are concemed that the force on the children's arms might
cause shoulder damage. So yvou calculate the force Sarah exerts on Rachel's arm, and the
force you exert on Sarah's other arm. You assume that the frictional forces of the ice surface
on the skates are negligible.

Eeme 1 iaticns shown at the top of the next pa
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Ax Xp- Av Yoo —y
Fundamerntal  Yxaw = T - Ay gy ™ Tt’l- - _EIJTIES'.
T o f o
Concepis:
AR = iy Fz =F
LInder | "
Certamn Xp= Eﬂx{ At) + '-'ml'lfll] +X, F=mg F= |"‘E]i~din,gN Fsp, N
Conditions:

4. A 20-Kg block is pulled along a horizontal table by a light cord that extends horizontally
from the block over a pulley attached to the end of the wable, and then down to a hanging 10-
Kg block. The coefficient of static friction between the 20-Kg block and the table surface is
0.80, and the coefficient of kinetic friction is (.40. Determine the speed of the blocks after
moving 2 meters, They start at rest.

: | Iy i ions s I - thi

5. You have taken a summer job at a warehouse and have designed a method to help get heavy
packages up a 15° ramp. A package is attached to a thin cable that runs parallel to the ramp
and over a pulley at the top of the ramp. After passing over the pulley, the other end of the
cable is attached to a counterweight that hangs straight down. In your design, the mass of the
counterweight is always adjusted to be twice the mass of the package, so the packages will
accelerate up the ramp. Y our boss is worried that the thin cable will break, so she asks you
to calculate the tension in the cable for the maximum mass of a package, 50 kg. You run
some tests and determine that the coefficient of kinetic friction for a package on the ramp is
(.51, and the coefficient of static friction is 0.85.

Remember to use only the equations shown at the top of this page.
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TA Orientation Homework #6

Initial Evaluation of Example Student Laboratory Reports

Before you start this homework, read the article by S. Allie, A. Buffler, L. Kunda, and M. Inglis,
Writing Intensive Physics Laboratory Reports: Tasks and Assessment (Selected Readings). In
this homework you will you will go through 2 examples of student laboratory reports and
evaluate their quality.

Homework Tasks:

1. Come up with words and characteristics that describe what you consider to be “good” and
“bad” writing.

2. Using the descriptions that you came up with in step 1, evaluate the following 2 example
student laboratory reports.

3. Mark down any and all comments on the example student laboratory reports, and indicate
whether it is “good” or “bad” based on your description.

Note: This homework is to elicit your initial ideas on how to evaluate student laboratory reports.
In class we will discuss, model, and coach grading lab reports.
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Defining “Good” & “Bad” Writing

What words or characteristics come to mind when trying to define “good” writing?

What words or characteristics come to mind when trying to define “bad” writing?
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Example #1

. Lab Report 2 - Lab 3, Problem 1

Statement of the problem:

I am a volunteer in the city’s children’s summer program.
One suggested activity is for the children to build and race
model cars along a level surface. To ensure that each car
has a fair start, my co-worker recommends a special
launcher be built. The launcher uses a string attached to the
car at one end and, after passing over a pulley, the other
end of the string is tied to a block hanging straight down.
The car starts from rest and the block is allowed to fall,
launching the car along the track. After the block hits the
ground, the string no longer exerts a force on the car and
the car continues moving along the track. I want to know |
how the launch speed of the car depends on the parameters
of the system that you can adjust. I decide to calculate how
the launch velocity of the car depends on the mass of the
car, the mass of the block, and the distance the block falls.
My ultimate goal was to find the answer to the question -
“"What is the velocity of the car after being pulled for a

known distance?”

Prediction:
I predicted that, using the equation  V=\|(2M,gh)/(Ms+M,)
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and with the data collected during setup, that the velocity at
the time the block hit the floor would be 60.5cm/s.
(Prediction graphs are attached.)

Procedure:

First, we gathered supplies. We used a cart, a flat track with
a pulley attached, a mass hanger with a mass set to
simulate the wooden block, string, and a video camera
attached to a computer with video analysis software. We
massed the cart and the block, and began to set up the
experiment. We placed the cart on the track, and ran the
string through the pulley. We hooked our mass onto the end
of the string, and held it to a height that we measured and
marked. We began recording video and let the mass go. We
made 3 runs like this to obtain the best video. When we
were satisfied we analyzed the video and came up with a
good measurement of the cart’s velocity. We printed our
graphs and made conclusions based on our data.

Data and Results:
Mass of Cart (Mc): 753.8g
Mass of Block (Ma): 50g
Height (H): 30cm +X
Coordinate Axis:
+Y
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(Graphs of data analysis are attached)

Discussion:

The results from the lab were pretty close to the prediction
made by plugging the masses of the cart and block and the
height of the drop into the equation I wrote in my lab
journal.

In the lab, there were a few sources of obvious error. The
first major source was the method of getting data. The
computer software is a bit inaccurate in measuring the
velocity with the method of selecting points in the video
frames. The camera we used has a curved lens, which
distorts the video. This all leads to data that is off from the
expected return. Another possible source of error is the
equipment. The set-up we used was not entirely perfect in
the fact that we were not taking friction into account, yet
there was most likely friction in the cart’s wheels. This would
matter most during the time after the block has hit the
ground, which is the situation we are modeling.

We could have made a few improvements. The main
improvement would be to more accurately analyze the data
within the computer software to compensate for any
distortion in the video. We also could have made sure the
cart was properly lubricated before performing the

experiment.
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Conclusions:

In our lab, we discovered the velocity of the car after being
pulled a known distance was around 55cm/s. This was close
to our initial prediction, so we were satisfied with our
results.

The launch velocity of the car does depend on its mass, as
well as the mass of the block and the distance the block
falls. This is due to the fact that they all affect the forces
acting on the car. There are some instances where the mass
would not really affect the launch velocity. If the distance
dropped were very close to zero, the launch velocity would
be near zero no matter what the mass of the block was.

If the same block falls the same distance, the force exerted
by the block on the cart would not change, no matter the
mass of the cart. The force of the block on the cart is always

equal to the block’s weight.
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TA Orientation 2005 Homework #6 (Continued)

Graph Title 2

iLab 3 Problem 1

X Position (&)

X - Prediction Equation Y - Prediction Equation
u(t) = 0.000 + 60.500t | u(t) = 0.000 + 0.000t —
X - Fit Equation Y - Fit Equation
u(t) = -1.000 + 55.000t | u(t) = 0.000 + 0.000 o
) :mp_h i 6ragh dF
zema KNGy e Bonamera: o vm rrgsan o Udpe iy - Vs Tore
70.07 1 I e A \ | ) i
5 al 4 _
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: ' _" e
- - - =] ]
Y HHT R H :
gqﬁo_ ! P ™! el —;%‘ :‘ ’ __.I_:"L i i [ .
= 30,0~ R i sl ddi

Vx - Prediction Equation Vy - Prediction Equation
uw=sserooo MY =0000+0000c N
vx - Fit Equation Vy - Fit Equation
wn=stomro00n L u=0000+ 000t ]
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Example #2

uist
002
Lab IIT Problem 1: Force and Motion

1. Statement of the Problem -- According to the lab manual, my group members and I
were asked to test the velocity of a toy car launched down a track. The car is attached to
a string at the end of the track, which goes over a pulley and is then attached to a block.
When the block is released, the string pulls the car down the track. After the block hits
the ground, the car is no longer pulled but keeps going. We were asked to find how the
cars speed after the block hits the ground depends on the mass of the car, the mass of the
block, and the distance the block falls before hitting the ground. The question we
answered in this lab is:

What is the velocity of the car after being pulled a known distance?

We used a toy car with a string attached to it, a block, a pulley, and a track to conduct our
experiment. We recorded the motion of the car and the block using a video analysis
application written in LabVIEW™, then analyzed the video to find the position, velocity
and acceleration of the car while it was being pulled by the falling block and after the
black reached the ground.

The block (called object A) has a significantly shorter distance to fall than the car
has to travel along its track. In this experiment, we ignored the friction between the car
and the track and between the pulley and the string. We also ignored the mass of the
string.

Experimental Setup
AN ek Py plock

3 | H""‘-—-._
| D) J 1)

[ I

2. Prediction --
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The first question asked me to calculate the cart’s velocity ~[Variables
. . X position
after the block had hit the ground. I predicted that v, = X0 initial position
VIxg[m,/{m, +m,)] . Isolved the first kinematics v velocity
_ vo initial velocity
equation, Xe = Xoc + Vet + 1/2at* for t, assuming that x, a acceleration
_ . s t time
=0, vo =0 and a =ay, and that the magnitude of the car’s m mass of object A
displacement was the same as the magnitude of the ? ?355 of car
) orce
block’s, (since the string did not stretch), yielding t = 2x/a. g gravity
. _ _ . . N Normal Force
Since v= at, v = a\(2x/a) and v* =2ax. Solving for a gives T tension force
a=v/x
Free Body Diagrams
Object A car a
T - F A >
N
I T
—>
1 I +x
hed
a
l g f Fg

Since the objects are attached to the same string, the tension forces acting upon
them are equal to each other. The sum of the forces acting on Object A in the x direction
is ZFx= Fg-T. The sum of the forces acting on the car in the x direction is LF=T.
Since F= ma, Mxa=M,g-T and M.a=T. Using a = v*/2x, Ms(v/2x)=Mg-T, and
M(v'/2x)=T. Combining these equations gives M(V¥/2x)=M,g - M(v*/2x), and
solving for v gives v, = m .

The next three prediction problems asked us to draw a graph of the car’s velocity
vs. time as a function of the mass of object A, mass of the car, and distance object A falls,

respectively. The other two variables are kept constant in each graph.

Velocity of cer vs. Velocity of car vs. Velocity of car vs.
mass of object A mass of car distance object A falls

N
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The velocity would increase as the mass of object A or the distance object A falls
increased, and would decrease as the mass of the car increased. The velocity would
increase at a greater rate with the increase in distance than it would with the increase in
mass of object A. Another way this couid be said is that the graph of velocity vs.
distance would have a greater slope than the graph of velocity vs. mass of object A.

3. Procedure — We set up the experiment according to the experimental setup picture
above. The mass of the car we used was 252 g, and the mass of object A was 50 g. The
distance form object A to the ground was 0.41m and the total distance the car was able to
travel was Im. There was 0.59m for the car to travel after object A hit the ground.

We placed the camera about 1.5m away from the table holding the track so that the entire
length of the track could be seen as well as object A. We recorded the car’s motion and
then analyze it in LabVIEW™, We divided the motion of the car into two parts -- motion
before object A hit the ground and motion after object A hit the ground -- and analyzed
each part separately. We predicted the equations for the position vs. time graphs, plotted
data points of both the horizontal and vertical motion of the graphs, and then found the
best-fit equations for them. We did the same for the car’s velocities.

4. Data and Results - SEE ATTACHED GRAPHS

We predicted that there would be no motion, and hence no velocity, in the y direction for
any of the graphs, and our prediction was correct.

Before object A hit the ground --When we predicted the equation for the x
position vs. time of the car before object A hit the ground, we didn’t really know what we
were doing. We should have used the equation x = xo + vot + 1/2at’ to make our
prediction. The values for xo and vt would both have been equal to zero and we could
have predicted the acceleration using a = v¥/2x: (VZxg[my/(m, +my)])¥/2x = [my/(me
+m,)]g =a. This would have given us an acceleration of 1.49 m/s*s, and a predicted
equation of x =0 +0(t) + 0.75m/s*s(t?). The value of 0.897 m/s*s in the best-fit equation
is reasonably close to this. Since the slope of a velocity vs. time graph is equal to the
acceleration and since 0.897 m/s*s was equal to %2 a, we predicted that the slope of the
acceleration vs. time graph would be equal to 1.80 m/s*s, and our prediction fit the actual
value of 1.70 m/s*s well.

After object A hit the ground—We predicted that the car would have zero
acceleration during this portion of its motion and that its velocity would be equal to its

final velocity, just as object A hit the ground. Again, we used the equation x = xp + vot +
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1/2at* to describe the predicted motion, with xo and a both equal to zero. We predicted
the velocity to be v= V2xg[my/(m. +m,)], or 1.167m/s. This prediction was very close to
the actual value. We predicted that for the velocity vs. time graph, the velocity would stay
constant at 0. 167m/s, and our prediction was very close to the actual best-fit line
equation.

5. Discussion—
Results- The acceleration of the car in the experiment is dependant on the block

falling. Before the block hits the ground, the car accelerates because of the falling block.
The acceleration of the block and the car is the same because the same tension force acts
them upon. Their accelerations are equal to {m,/(m. +m,)]g, where m, is the mass of
object a (the block), m. is the mass of the car, and g is the acceleration due to gravity,
9.8m/s*s. The velocity of the car and of object a at the time when object a hits the
ground is equal to Y2xg[my/(m, +m,)].

After the block hit the ground there would no longer be any tension in the string
and the sum of the forces on the car would be equal, (since T=0 and F, =Fy). Because
F=ma, the car would have no acceleration. Its velocity would continue to be equal to
2xg[my/(me +m,)]

Error- Error resulted from our collection of data points again. It is difficult to
click on exactly the same point of the car each time and to click on the same y value
along the track each time as well. This results in distortion of the position measurements
and velocities calculated. There is not much that can be done about this, except that we
should try to be very precise in future collection of data points. Also, the camera could
have caused a slight distortion of the collected data values. In this experiment, we
neglected the friction between the car and the track and between the pulley and the string.
This made the calculations a lot easier, but it caused our predicted value for the
acceleration of the car and the block to be different than the actual value.

Improvements- It would be optimal to do many trials of this experiment, using
different values for m., m, and x, to check that the equations really fit, but time is an
issue. With more precise data collection, we could have eliminated some of the
movement and velocity seen along the y-axis.

6. Conclusions-- Using physics principles and equations, we predicted that the velocity
of car pulled a known distance by a falling object would be equal to Y2xg[m/(m. +ms)],
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where x is equal to the distance the object falls, g is equal to gravity (9.8m/s*s), m, is the
mass of the object falling and m. is equal to the mass of the car being pulled. Since the
tension forces on each object are the same, they have the same acceleration and this can
be predicted using Newton's second la\# and kinematics equations. The results of our
experiment confirmed this.

In each case but one, the predicted values for the components of the equations of
the graphs were the same or close to the actual ones. When we predicted the value for
acceleration of the car before the block hit the ground, we didn’t figure any friction into
the calculations. We based all of our future predictions off of the actual values we got
for this graph’s equation and they all matched the actual values well.

The launch velocity of the car does depend on the mass of the car, the mass of the
block and the distance the block falls, according to v = ¥2xg[my/(m. +m,)]. For values of
m, that are much larger than m., m; does not affect v very much, since [m./(m. +m,)]
becomes very close to 1.

The tension force upon the car and the block is dependent on the masses of both
objects. Changing the mass of either one will change the tension force exerted on both.
The tension force on the block is equal to its weight if the block has no net acceleration,
in other words, when T=F,. This would happen if the mass of the block was zero, and
since it could never have zero mass, it would never happen in a frictionless system. It
may come close to zero though, and would reach zero in a system with friction. We;
could test this experimentally by using a car with a very large mass and using blocks of
decreasing masses. The acceleration of the car should go toward zero as the mass of the

blocks decrease.
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Graph Title
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